Acad Algebra 1 (2024 version - NO Vocab) Name (ZOZ"‘ K E\/) ID: 1
cw: Ch 2 Practice Test (in-class version) Date Period
Arrange numbers in aScending order (least to greatest). '
1) (4pts) Arrange numbers 5/2, -3, 0, -10, V25, -V 36, in ascending order (least to greatest).
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(3pts) Evaluate each expression. CLEARLY SHOW WORK AND CIRCLE ANSWER.
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@VE each expression as an Addition problems (2@

Then evaluate and circle your answer (2pts) 4 4 - .
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(2pts) Find each sum. Show work! TIP: add
negative numbers and add positive numbers
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(2pts) Evaluate each expression
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- (4pts) Find each quotient. Clearly show the
multiplication step (2pts). Evaluate (2pts)
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(4pts) Evaluate each expression. Clearly show your steps.
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(4pts) Simplify each e on. Write in standard form (variable ferm first and constant last)
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Evaluate each using the values given. \Qmw the substitution (2pts) then evaluate (2pt).

16) q(rj—q)+p; use p=20,g=10,andr =6 17) x+2((—7)—z); use x = -10, and z = -9
Wi

Jo (é_j_@)Jrzo -lo ~ ;2(-7»-?—%)
o (-4) +2° ~lo 22 (-1 +a)

i 'LQ il 5 2 (‘1\) -
’-—ZO \ “‘"5'0 2 = ‘/—

BONUS: (3pt each) Evaluate each expression. Clearly show work to receive credit

18) (-6-2) = 6 ﬂj8+(2—6)
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